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In the table below, none of the syllables are found in Mandarin: they are gaps (3 4 ). In your opinion,
which are systematic gaps (% ti% % 4%) and which are accidental gaps (i #5475 4%)? For systematic
gaps, write another gap (using “7 % 1 ) to show that this kind of syllable is forbidden in general. For
accidental gaps, write a real Mandarin syllable (using % % 1T and a Chinese character) to show that
this kind of syllable is not forbidden in general. [25%]

Examples of correct answers for English syllable gaps:

B H | 2#A | 3 S | B §an
bnick Xl bnack
blick ¥ el black (2.)
Now do the same thing for Mandarin:
B & | 2#83 |33 965 | B §ovls
@ | 72X
by |[IT—H
€ | 9X5
(d) | 7 AL
e | A«
® | P—~L
(9) [T
(h)y | Kt
@ |y—%
G | TA%
k) |[OY
m | 7x
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3. EMTBKAAT H LA B S ok

(1) those three seedless grapes
(2) *seedless those three grapes
(3) 7z g i g
4) EF7Z T

i

i -

(1) F &8 A5 EF RSN £ [71%]
(2) Where did James claim that he bought that book? [8%]

PUT GBI fATR 2(2000) (H1A4 ¢ @ chRa) - v o HREE ARSI S E S 05 Bk
NP A EE D ES - [10%]

Bl— : BREER

1 B : Women zeige ... Guingdongde rén a, (M.) dou guolidnde lidn saansi 1atian
(M.)

2 wangsang a, (M.) ba gudn ni jialide rén ... (M.) zai sémme difang zud séngyi,
3 (M.) zai sémme difang zud s[ilqing, (M.) zai s@ansi winsang a, yiding yid
4 géanhuiqi jid limian gi winfan.

5 & : Chi winfan?

6 B : E,yiding yid

7 & : Sanshi winshang.

8 H : Saansi winsang. (A ha, aha.) Yiding yili gdanhuiqi. (A ha.). Latian winsang
9 ne, giguo fan jiu bu léngodu ... zeige ... suijido.

10 & : Bu néng shuijiao? (E.) Y& shi yige wiinshang bi zhiin shuijiao?

11 H @ Yige winsang bi suijizo. (A ha.) Dou ... [tsd]yi.

12 & : [Tsdlyi” shi shémme?

13 B : E, lidn [tsd]y7 a!

14 Z : A, nian chiiyi, ha ha.

P. Lightbown & N. Spada (1999) % How Languages are learned - 2 © #% |- 4 A ¥t % = 33
BB gehs 3 T2 L i ERE P T HEP L Pty 2§ o SR DERE DD
7 & @ o [15%]

Q)22 8 LEBHOEE o
(2) QALK g M IZF anZEaE
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(4) B €% -7 e

(5) g+ %ﬁ%:%é By g o

(6) * A F-FTHEV FaFF AP F-F 7 TR

(7) 2 Ffo— S 3c- BFZRR > DEF S BFERPRY B > L&~ ¥ - BFERD -
(B) EFRAKMEFT BHf FAFRFT B -

(9) #4 - £ MRFF > XFRZTHE > UPGHRYBE S

(10) X * PP 5 BT RBAEZ SH° -

(11) S4 @7 Jamh dt #53:6> Apd 23 §R ST d 0 FE e

(12) B2 8% ZfF rgap 3 o

6. ik w E LT R AT
BLENGE IO FIHE N ZRY I BRI PEE FX 2§ PR T

(1) § fafris f3e 8Pt By (s chfles > Wi BB R AR R AR [6%]
(A) #Eadp
(B) is 4 :}13'5

i+ =
C) #iatp

(2 *2FR PiagE T P RET X R
B enEAE o [T%]
() m2
(B) ##4
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6.2 BT o oS gkl Jf]&(argument structure) ~ #% 1 .fﬁi&(thematic structure) » 12 % ZE B 1%
(grammatical relation) - [12%]

(3) # A4 -



